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1) Gusab wHm euefl WeSETLVESGIL6T Falowl Gy
Sl6m6TsTSEHTET 6157

A. emLLedt

B. w@pmium

C. il LmebT

D. Siomev

The only moon with clouds and atmosphere is

A. Titan

B. Europa

C. Triton

D. Mimas
2) seuprerteng Caibes (0.

1) fevl. — wettTEssiled Liema&sLILHLD &H6v6v6mMm
2) 117657 — LOEBBTLIMGTTIL &g &61T
3) #m&ECasmGuss — &L L &6ifloessTessTey p6uT
FeauliGLL g
4) Qwestamly — BHSHSET
A 18&20E0
B. 2 &4 1l (W
C. 3& 1wl (W
D. eigleyb Gevemsv

Choose the wrong answer.
1) Cists — Enclosures buried under the earth
2) Urns - Pottery jars
3) Sarcophagi — Burial receptacles
4) Menbhirs - Pillar-like stones

A.1&2 alone
Learning Leads To Ruling

B.2&4

C.3&1

D. None of the above

3) gpm Semeuuilstt UestesTTL () BEHISTMD  6TMRIE,
SHenohgleiTeng)?

A. Sgmesteny

B. @nidlevnri g

C. Qmsieonhg)

D. o1@Quwiflésn
Where the UN'’s International Court of Justice is
located?

A. France

B. England

C. Netherland

D. America

4) ‘sSieowdEEh wHPFHHEGDL eulfl’ 6T [HIemev
sT(w&Hweur wmy?

A. swnevihg Freiveud)

B. gregmymib Guomgest il

C. aflGsusnevrib i

D. &p,50mmd Lmesst(h Il

Who authored the book called “The Guide to Peace
and Happiness”?

A. Dayananda Saraswathi

Raja Rammohan Roy

B
C. Vivekananda
D

Atmaram Pandurang
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5) 6H& MBI IpesTGUNG  geuamijeomev  Gb(H
SMHEHEMW (LPS6T (PSHEVNS FH&HSHIT]?

A. e0&Ceotm ABM(H

B. mrsL, i wammh

C. evngaj AB(H

D. uestmseiv B

Jawaharlal Nehru met Gandhiji for the first time at
which session?

A. Lucknow session

B. Nagpur session

C. Lahore session

D. Banaras session

6) CaMevL&ESM6v [HESoTL LIS6V [BIT6T 6157
A. G2

B. &g9651 21

C. G 23

D. eg%ett 23

The day ____ is known as summer solstice.
A. May 22

B. June2l

C. May 2

D. June 23

7) &L6L Sen6e&6T 2 (Hevor(h GFeveug GumesT)
Hlevseng @LLMHMD CEFLIUILD D56V 6157

A. HWHSH SiEOEVSET

B. wiiley SHemevgeit

C. Gevr Siem60H:6ET

D. GpGesv oiem6086T

Learning Leads To Ruling
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Which waves displace the ground like rolling
ocean waves?

A. Compressional waves

B. Shear waves

C. Love waves

D. Rayleigh waves

8) =Gwmevflwim etedTLIg) 67 _____

A. sudlevid

B. sy

C. BHemevemniowjen_Wwg)
D. miflwebLemLwig)

The Ammonia is

A. Acid
B. Base
C. Neutral

D. Amphoteric

9) fAgzettestounaey el 6hG CUITTEME FMHHSHZ!?
A. grais smev CampmHenL WG|

B. &g &mev LIM6toTip W(THEDL L]

C. usveveu(HEBL WG]

D. semufipmenLwg)

The sittanavasal paintings belongs to which
dynasty?

A. Cholas of sangam period

B. Pandyas of sangam period

C. Pallavas

D. Kalapirars

10) &MesTL 6V FlEOM(LPSHLD DHeMLOHFI6TeN QL LD 67817
A. BRIS
B. Gum( eumismerd

Page 2 of 22



http://www.winmeen.com/

Group 4 GS Model Test

C. Gmmeum
D. Gsyerm

Where the kandla port is located?
A. Gujarat

B. West Bengal

C. Goa

D. Kerala

11) w&a6MOFTms CL(HHEESMSL UMM 61EFflEHems
Q&g Gummerfluey iplepF wmj?

A. oL 1b 60161S

B. omeugen

C. &ij6v OMIEHEN

D. @gg.611b.&6ir6M0

Which economist gave warning on population
proliferation?

A. Adam Smith

B. Malthas
C. Karl Marx
D. JM.keens

12)  SuGuliguilest L&SHISET6L 26f6m  FEMWesT
@um(meiT 6181?

A. feuliy umeivLIzeny

B. GQeauememeart LimervLIfery

C. umervugeny QuestLngenen(h

D. umsvurgenvy GGemmeny(h

Which chemical is used in the side of the Match
box?

A. Red phosphorus

B. White phosphorus

C. Phosphorus pentoxide
Learning Leads To Ruling
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D. Phosphorus chloride

13) sflwne QunpBSlwsTeneng CoIHOS M.
A. QammUETeTSH6T — eUMJThIS60

B. &na&5WisseT — gleny

C. LIMeBBTIRWITSET - Gl6UM F(WPSSITLD

D. wngeuissT — Caeudlif]

Choose the correctly matched pair.

A. Hoysalas — warangal

B. Kakatiyas — Madurai

C. Pandyas — Dwarasamudra

D. Yadavas — Devagiri

14) SpsesoiLeudmIeT 618 LemeyLll LI6Tens S s estmev
2 (H6UMesTg)?

A. snailifl

B. Gangmeuifl

C. Bijwsm

D. Ganél

which of the following river is formed due to Rift
valley?

A. Kaveri

B. Godavari

C. Narmadha
D. Kosi

15) 6B USHSTEEEI(H BMVHDS QHHW  HT6

LISI6n&EhEST6sT LISSMessTL e iplallsss)?

A.1980 - 1990
B. 1990 - 2000
C. 2000 - 2010
D. 2010 — 2020
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which decade is declared as the ‘' Decade of
Innovation ‘ by the Government of India?

A.1980 - 1990

B. 1990 — 2000
C. 2000 - 2010
D. 2010 — 2020
16) orbhleo sl Guwevemeuuiles  Qonss

2 miuiflestiserfley, sT&sHement GLEMIT 4 (6THHIT HlWLDEDTLD
@&Wwevmb?

A. 1/4

B. 1/6

C. 1/8

D. 1/5

What proportion of members can Governor
nominate out of total members in State Legislative
Council?

A 1/4

B. 1/6

C. 1/8

D. 1/5

17)  emiGseom 2 (H&HHMEn6L SHPSHHETIIL.  66sTIl60T
2 gelluL 6T GleussLLLLg)?

A. G Gggjwesfl

B. peiswim

C. gliumest

D. s1Qwiflésn

Rourkela steel plant was set up with the
assistance of ____.

A. West Germany

B. Russia

C. Japan

Learning Leads To Ruling
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D. America

18) geverI(p BNGIESHen6T QFMlanl L LiwesTU(HSSID
(pemm 618)?

A. smswmey Ggijey GIFUISHEH

B. snbaailwev Liflsse0

C. yalluiiiy wemmuilev NiflEQsHES60

D. mieon gL (Wemm

Sulphide ores are concentrated by which method?
A. Hand picking

B. Magnetic separation

C. Gravity separation

D. Froth floatation

19) geung Geous Siemailemeris  HL(HLILIHSSLD,
LT SSAILD &6 enUILD 2 6TTEMend, (PSHEST(LPSHE0TE
SesoTLMlb&eur wmy?

A. Wlervevmeleivgd

B. GamellL

C. Guallerv

D. evLmiesImi

Who first reported the presence of respiratory
centre which maintains and controls the rate of

respiration?

A. Mislavsky

B. Collip
C. Bayliss
D. Starling

20) Qu(BSzs.

a) smevHlwb Sp&Hend®h — 1. oo B

Page 4 of 22



http://www.winmeen.com/

Group 4 GS Model Test

b) smfwb emaplymsenslh — 2. &L
Gi650T650TITLDL |
c) Gomowd emanlynesensg® — 3. BOmE
Gi600T65OTILDL|

d) waesfAwbd emamLgrsemerl — 4. stflGemLT

abec d

A3 241

B.3124

C.2 341

D.4 132

Match the following
a) Calcium Oxide — Antacid
b) Calcium Hydroxide — Quick Lime
¢) Sodium Hydroxide — Slaked Lime
d) Magnesium Hydroxide — Caustic Soda
abec d

A3 241

B.3124

C.2 3141

D.4 132

21) QF6v SHeMLLILIMENT 6T65TM] HeMPSBSBLILI(HeuG] 61817

A 2050

B. 2 U&(p enngb

C. &@rmomigstt suemevLiLil6tTeTen

D. 2| s(mLoevotl

Which is called as the Cell Organizer?

A. Neucleus

B. Nucleoplasm

C. Chromatin Recticulum

D. Nucleolus

22) LraievLesllest 2 (m&Hlemev Lieterfl eTettenst?

Learning Leads To Ruling
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A. 3400°C
B. 3422°C
C. 3474°C
D. 4410°C
What is the melting point of tungsten?
A. 3400°C
B. 3422°C
C. 3474°C
D. 4410°C
23) E1P&EH6TOTLEUMMIGT 61155 6965TM| LL(Ehems Gomil?
A. figerv Cmettai
B. GeaugsLemnev lp&sm Gomil
C. 2 (memens&liprig aflsvl. Grbmi
D. aunemipuilemev 2 &85 Qansg Gnmil
which of the following one is the fungus Disease?
A. Citrus canker
B. Tikka disease of ground nut
C. Wilt of Potato
D. Bunchy top of Banana
24) wrpr elflg aflfHeow Famlweur wmy?

A. LmevLedt

B. emaiGumyL

C. J@permervL_

D. Qruwr#liflipwev

The law of definite proportion was given by ____.
A. Dalton

B. Rutherford

C. Proust

D. Democritus

25) QumpsgIs.
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a) sevamewty — 1) Heznhs SGrmoevsi]
b) QuwGseui - 2) yrey srmhileost

c) GamwBseur - 3) S Canailbab

d) unenvannggmflwm — 4) &&MEf&ansID

abcd

Al12 43

B.23 14

C.31 24

D.4 3 12

Match the following.
a) Kalhana - 1) Siddanta Shiromani
b) Jayadeva - 2) Rajatarangini
c) Somadeva — 3) Gita Govindam
d) Bhaskara Charya — 4) Kathasaritasagaram
abecd

A'l12 43

B.23 14

C.31 2 4

D.4 312

26) SpssesTTLUMMIET 61HF 66dTM WHSMD Hlemev
Qsmbleney &MiHSSI?

A. auj&550

B. fljeunaid

C. oprmiuss

D. (pu0leu(pssev

Which one of the following is the Quinary Activity?
A. Trade

w

Management

Research

o o

Decision Making

Learning Leads To Ruling
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27) @oL® Seem glwy  FbUUSFIL6T
@&MLiLemLweury wj?

A. gmujL &Hlemereu

B. Ly liGeu&ein

C. Gameivigmiien

D. smamsj =16l

Who is related to Black Hole Tradegy?

A. Robert Clive

B. Dupleix

C. Hastings

D. Hyder Ali

28) Gunmflsefleo 2 (peum@w  HOIMLLISem6T

UMEl&GLD SMyevsilssi wmeneu?
1) Qeutiu lemevuilev GeumyLimbssit

2) Gurmg) Biflett HLGEHS
3) yallufyiiy ellens
4) Qamflumeflenflerv aflens
5) uesfl 2 (HE&H60
A 1,238&5
B. 1,34&5
C. 2,3,48&5
D. Gom&e6ssTL Si65165158)LD
Which of the factors that influence the generation
of ocean currents?
A 1,2,38&5
B.1,34&5
C.2,3,4&5
D. All the above

29) S1pa6sTLUDMIET 618 HeUMTesTg)?
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A. grsnpnagmilung smevly eTetTn L SHEH 0 MBS
B. U Quissbd gimssluiley Camhmieils&siulLg).
C. ugauy Campmielss Lfley aifengeud opELb.

D. gendlgngy T&flGL06sTTeN  6T65TM ol

eT(L&lewTy.

Which one of the following is wrong?

A. Shankaracharya was born at Kaladi

B. Sufism originated in Turkey

C. Basava was the founder of Virasaivism
D. Tualsidas was the author of Ramacharit

Manas

30) 618 HLemLWIMEDT 6TEYIDL|?

A. 5655)|58IM60 6T6Y|IDL

B. Gamev LLemLullsb 2 6iter omyGILIEYIDL]

C. QzmenL sTepilbLy

D. (petT 608 6T6VILDLY
Which is the flat bone?

A. Ankle Bone

B. Sternum Clavicle Bone

C. Thigh Bone

D. Forearm Bone

3]) GaHw euewid GBMETMS HWEVIHE 6UHSHF)
eTIGuimg)?

A. 1975

B. 1978

C. 1988

D. 1992

When was the National forest policy came into
force?

A. 1975

Learning Leads To Ruling
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B. 1978
C. 1988
D. 1992

32) 6bs 62758 e6uGeun(p AHleVSSIYID 6(H 2 Wi
P& et SHevWwEHsLILL Couestr(HLd 6Test FamiSlma?
A. 5058 214

B. s5g1 224

C. 158 228

D. 5058 234

Which Article says that there shall be a High Court
in each State?

A. Article 214

B. Article 224

C. Article 228

D. Article 234

33) seupnsl QUTBSSLILL IpBLILIG 6157

A opusE sl — 1878

B. Uinmp&lw Qumygl usHiflsens gl — 1878
C. Qi@ wenn& sl LD — 1773

D. @eounL wGengm — 1880

Which has been wrongly matched?
A. The Arms Act — 1878

B. Vernaculer Press Act — 1878

C. Regulation Act - 1773

D. The Ilbert Bill — 1880

34) SpsesviLeupmisT @HSW HT&H FLLID 1935-85L1
umflw Seummnest amm| 618)?
A. I&TesIBIGET 6 HetTerTT Flemw LS55

B. wnasneswmhigefley @LenL oyl 8 QufldaliulLg).
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C. wglullev sal LM & SipFmmsb hUBSSILLLSI.
D. sal LM & suradlemw eSS ws)

Which of the following is not correct about
Government of Indian Act 1935?

A. Abolished provincial autonomy

B. Abolished diarchy in the provinces

C. Established federal government at the centre

D. Established the Federal Reserve Bank

35) eu.2 HAgwunb UlstemenwLest QgmLLlevevngg)
61817

A. 588 giwemnis Qpgeunet&er shisD

B. 5858 gal (FM6Y SIMBISMIe&H6IT

C. 58581 s11L6v BlmIGu6wTLD

D. siemensbH &ndh sevoemldl oMb &G
QUMBL&6T HevstamLd

Which is not related to V.0.Chidambaram Pillai?

Swadesi Dharma Sanga weaving association

B. Swadesi Cooperative stores

C. Swadesi steam Navigations company

D. AllIndia Khadi exhibition and Swadesi
Exhibition

36) 6bs  SfFlwevemwli]  HHSHFFLLLD

aUNE&6ITHELD aUens 21 6S([BHS] 18 & (HOMSSHSI?
A. 65"
B. 61
C. 631
D. 62
Which constitutional amendment act lowered the

voting age from years to 18 years?

37) Qun(Bs&1s.

Learning Leads To Ruling
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a) SI(HLUSEL — 1) unsleflwm

b) SI6BILNZHEL — 2) Dp60&TEHSET
c) Uenggev — 3) L Epe0s

d) env@unimeit — 4) FrervL

abcd
Al1341
B.34 21
C.4213
D.213 14
Match the following.
a) Budding — Bacteria
b) Fragmentation — Algae
c) Fission — Fungi
d) Spores — Yeast
abecd
All13 41
B.3421
C.4213
D.213 4
38) smflwmidlen euenss @, a1(B&SIHSTL([H 6187
A. Hemom e
B. LemyLm&eny
C. @Qrmev
D. @i
Which is the example for caryopsis type?
A. Clematis
B. Tridax

C. Paddy

D. Cashewnut

39) QunBSEs.
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a) UTSLT UDemeussT  gresormeowld — 1)
2 5515M6sTL

b) settanm GHEAL LyBIST — 2) IFMD

c) &MUl Gadlw LmisT — 3) qregeivgmest

d) wevtmeiv euewt 2.uflifl FyeveTeOWId — 4) WHEHW
HrGa &b

c d
1 2
4 1

a
A3
B.2

w N T

C4 1 23
D.3 214
Match the following.
a) Bharathpur Bird Sanctuary — a) Uttarkhand
b) Kanha National Park — b) Assam
c) Corbett National Park - c) Rajasthan
d) Manas Wildlife Sanctuary — d) Madhya
Pradesh
abocd
A3 41 2
B2 3 41
C4 1 2 3
D3 214

40) ____ gwwnest Hlul L nrestener Gsmesor(heiteneot?
A. oGgmumnigei

B. 09GgnGLmiyserT

C. 88snGLmestg:6M

D. hlemm etes81861T

have the equal number of neutrons.

A. Isobars

B. Isotopes

Learning Leads To Ruling
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C. Isotones

D. Mass numbers

41) sflwnest Fapevm CHIHOSM.

A, QeustTEHEVSSML  Dp6eoT  BLlpll  LOMBIEmSUSl6oT
2 (Heugflemev anrLILN B&Ifl60 BT (HSHSLILILLE).
B. amplustt en(S&gIWenD  6UeILILSESSSH(HHS
QLSS DLS 6(SLILIL(HeTeng).

C. amguum eeorn HAbH Gom CEFTLNISES
LI6n&W63oTL BSLD 6TesTm) CILIM(HET.

D. Gum&e6ssT 6016515 8)LD

choose the correct statement.

A. The statue of a dancing girl made of bronze
was found in harappa.

B. Harappan scripts were written from right to
left.

C. Harappa means Buried City in Sindhi

D. All the above

42) Gwemflw eub&sHest HenLdl HT&EF wij?

A. Jpasnsen

B. yeipwisfis ST

C. UIbg gmym

D. 21918 &8

Who was the last king of Mauryan Dynasty?

A. Brihadratha

B. Pushyamitra

C. Bindhusara

D. Ajatasatru

43) 2011 w&seT QsNems SewEOsHUILeT Ui

@idwnealles GLHeng Limeller ell&lsw ____.
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A. 948

B. 919

C. 995

D. 935

According to 2011 census the child sex ratio of
indiais ____.
A. 948

B. 919

C. 995

D. 935

44) &p Qen@pssuul(hetemeummet  @HSHW

S wevemioLiLilest SlglILIemL SLEOLDSHENET
Q600168 SMI6ToTONG Q(HHS GH(LP 61517

A. gneny @

B. #jsamilum @

C. seumslBIgHesT (& (W

D. erveurest i (G

Which of the following is responsible for including
fundamental duties into the Indian Constitution?
A. Sachar committee

B. Sarkaria committee

C. Swaminathan committee

D. Swaran Singh committee

45) &nbd (PSEtI(PSHeuTs 2 6vsteseTnalfg GUTFMLLLD
BLSSW QLD 618)?

A. Fumgest

B. Gasm

C. sievsmung

D. sisw5mung
Where did Gandhi held his first hunger strike?

Learning Leads To Ruling
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Champaran
Kheda
Allahabad
D. Ahmedabad

o w »

46) SpsseseTLeunmisT Coile eulfl FMiHSS) 6187
1) Qans g eurfl
2) himieuest surfl
3) uetsTem6TET HUIl
4) aflHuenet surfl
5) eu(mLomesT 6urfl
6) &evmev euifl
A. 2,3&4
B.1,23&5
C. 2,4,5&6
D. GuhmaessTL 66515 gD

Which of the following is a Direct tax?
1) Wealth tax
2) Corporate tax
3) Estate tax
4) Sales tax
5) Income tax
6) Excise duty
A 2,3&4
B.1,23&5
C. 2,45&6
D. All the above
47) SpsaesuLeudmieT 61L(h BesT@esTnl Limemsuilen
660TM| H6LEVNS G| 61517
A. mestpune

B. B6v aump&ens; (pemm
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C. mh&bsensnt GeailliL

D. mevevniley

which of the following is not an eight fold path?
A. Right effort

B. Right livelihood

C. Right concentration

D. Right Knowledge
48) QUMBHSS)|5.
a) #1581 74 — 1) semevennd FL L Sl
b) #1568 63 — 2) (BlWnES Hemeveur]
c) #1581 52 — 3) Ulygio
d) #1581 76 — 4) GlEOETTS (BlWTEHS SHEI6VEUT

a b c d
A 3 4 21
B.1 4 3 2
C.2 143
D.4 2 1 3
Match the following.
a) Article 74 — The Attorney General of India
b) Article 63 — The President
c) Article 52 — The Prime minister
d) Article 76 — The Vice-President
a b cd
A 3 4 21
B.1 4 3 2
C.2 14 3
D.4 2 1 3

49) oflev-@-@6vevman) sTesTn GUIWT QUDHDeUT Wmj?

A. Sleyrrasd
B. umevuest

C. sgdlevl
Learning Leads To Ruling
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D. &15ur
Who was called as Zil-i-Ilahi?
A. Aurangazeb
B. Balban
C. Ghajini
D. Akbar
50) &ipsevoTLsummieT &iflwimest sa.bml 615?
1) oi@ansifletT g FHUILS SHevtenld Hev@eul (H XIII
60 (GMILLL LU (HeTeng).
2) oGgnaiflett &edlmisl Guy GM&Hg 606l (D
XII aulhSmsgl.
A. 1oL (B
B. 2 L (B
C. @yesoiBd
D. s1giab Qevemnev
Which of the following statements are correct?

1) Religious tolerance of Ashoka is evidenced

from major Rock edict XIIL
2) Kalinga war of Ashoka is stated in the major
Rock edict XII.
A. lonly
B. 2 only
C. Both1&2
D. None of these

51) usttestL(h 6T(L&SNN6Y [BIT6TT 61517
A. 156U 12

B. QeluLmuy 12

C. QelLbur s

D. o1568Lmur 8
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when the world Literacy day is observed?
A. October 12

B. September 12

C. September 8

D. October 8

52) &sevallgamest 2flend FLLD 6HS  Dp6s0T(H
SpsluBSsIULLS?

A. 2010, gyLaiev 1

B. 20009, ejLimsv 1

C. 2010, opm6mvL_1

D. 2009, ops6i0L1

On which year the right to education act was

passed?

A. 2010, April 1

B. 2009, April 1
C. 2010, August 1
D. 2009, August1

53) Qum(BE3s.
a) LenvenSletT 2 L etTLIpdHema — 1792
b) uriisliuligenT eliLbg0D — 1782
C) &M6vevLl 2 L ebTLIlg&ens — 1784
d) wriseenT 2 LetTUpsHeng — 1802
abcd
Al 2 43
B.4 123
C.31 2 4
D.43 12
Match the following.

a) Treaty of Bassein — 1) 1792
b) Treaty of Srirangapatnam — 2) 1782

Learning Leads To Ruling
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c) Treaty of Salbai — 3) 1784
d) Treaty of Mangalore — 1802
abcd

Al 2 43
B.4 123
C.31 2 4
D.4 312
54) SipssesorL wnj oipg UgHblHlwns @mns Gung)

Qoo CsMET HNl(PsILBHSSUILLL§)?
A. &8l Leot LSy

B. sigest Uy

C. smesflrl Ly

D. fliuest gy

During who among the following viceroy's
period,Ilbert Bill was introduced?

A. Lord Lytton

B. Lord Curzon

C. Lord Canning

D. Lord Ripon

55) @mpHw  Arflwevenioli FLLESHeT  inE
QBMlWwenns CamunphaeT smbHlw Camiuny 61g)?
A. o661, QLIETET GoUEmEVEE FLD 26TEUILD QULPMHIEHS60
FLLBIGET

B. oememaums@n  Gungleumest

SuUDODISE

C. 59088 QBML6LEEMET EUETTESHED

D. su(peunill eJm&Smpeney 158&sH60

which of the following is a Gandhian Principle
under DPSP of Indian Constitution?

A. Equal pay for work of men and women

B. Make uniform Civil code
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C. Promotion of cottage industries

D. Minimize inequalities in income

56) ellgwpsr Guirdlest sevevssnest Wb
(58155 (h 618 61517

A. 2ighHa

B. amwLl

C. seenGamm

D. em&gm

The best example of Vijayanagara Art is

A. Ajanta
B. Hampi
C. Khajuraho

D. Hazara
57) eflwnesteng CaibOS(H.

1) semeLmev@asMl (pWais el sHlnmeliiiy
Qametemasuilstt Lilp @Wiri&GS ).

2) surentLd [Hev Him&Hlev @BLILSD(S SMT6sHILD 6l &
fgmev.
A. 1oL @b
B. 2 b {b

C.1&2
D. eigi6yb Gevemev

Identify the true statement.

A. lonly
B. 2only
C. 1&2

D. None of the above

58) el o4 mfletT Geugsmev QU eTesTerT?
A. ymadef

Learning Leads To Ruling
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B. sndlgunsm

C. spgdlswn

D. s5m5(H

what is the vedic name of river Ravi?

A. Purushni

B. Chandrabhaga

C. Arjikya

D. Satadru

59) aflwneneng CaiHOS®H.
1) sumEsABNBH6sT 62(1H SVl Teume) Speui.
2) S.C. Gumenv Gum@ 6ukis LMHleVGMNGE

Geibseul.

A. 1wl @b

B. 2 bl (hd

C.1&2

D. eigia|b §evemrsn

choose the correct statement.

A. lonly
B. 2only
C. 1&2

D. None of these

60) G&MuM6ev BWGEIT 61HG LOMEUL L &enGE FMHSHeU]T?
A. HpOmsLGeusi]

B. Geugyrty

C. wglenr

D. fesor(h&8H60

Gopal Nayakkar belongs to district of ___.

A. Tirunelveli

B. Vellore
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C. Madurai

D. Dindigul

61. Find the radius of a sector whose arc length and
area are 27.5 cm and 618.75 cm? respectively
b.25cm

d.55cm

a.35cm
c.45cm
eflevellest Bemd 27.5 Q&.18. unliueTey 618.75 &.Q&.16.
Q& mesoTL 6uL_ L8 Gamesorll Li@Slullett 7L smevor.

1. 35 Q&g.15. 3. 25 @&.16.

@. 45 QF.16. . 55 Q&.16.

62.If 15% of x = 20% of y then find x : y ?
a.3:4 b.4:3

c.17:16 d.16:17

x-661 15% = y-681 20% 6160fl60 X : ¥ &M6voT.
2.3:4 o 4:3

Q.17:16 . 16 :17

63. Simplify :

If¢= %and® = Zthen" "% is
b 5 c 16 cé+a
a.- b. =
7 25
3 6
a_ 4, . b _ 15 oo 2_q2 .
L, =z loomib T STevlIeL —— eT6oTLIg)
1 A
A <o 25
3 6
64. How many diagonals are there in a polygon of
15 sides?
a. 30 b.70
c.120 d.90

15 ussmIssT QameL Loy CametibdH(@ 615s6me6nt

cpenevail L g6l 2 6iTemest?
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1,30 <. 70
@.120 /. 90
65.1f £=2then 22 =
b 7 a+b
a. - b.8
8
c.2 d.2
7 5
a .. a-b
b =7 D o=
1
2 9
66. Greatest Common Divisor of 924 and 105 is
a. 21 b.23
c.24 d. 25

924 wom|b 105-Gett LBLIGILIH @QUNE) UGS
o 21 4. 23
8. 24 . 25

67. The L.C.M. of three different numbers is 120.
Which of the following cannot be their H.C.F.?

a.8 b.12

c.24 d.35

ewpsttm) GeusuGeummenst etesvigseiflett 15.8).0. 120 etesflev

Sp&sesTLeuDMI6T 6181 HeuGeusstaeiflett 15.QUMT. 61

3160607
1.8 <. 12
Q.24 . 35

68. Given below are two series with specific

pattern

7 13 29 53 13 217
5 (@ ® © @ (o
What will come in the plate of (e)?

a.173 b.171
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c.153 d. 151

&8 Qanhssuul(heem, GUIUUILL 2 &SaEpLes

FalpWl @ GSMLI&6 6y, (€) —65T HILIL SHMessTs.

7 13 20 53 113 217
5 (@ () (© @ (o)
@173 o 171

@.153 . 151

69. The sides of triangle are in the ratio 3:4:5. The
measure of the largest angle of the triangle is

a. 60° b. 75°

c.120° d. 150°

QM (W&Canemddlert LSSmSET 31 4 @ 5 et
allflgsdlev 2 6ieng) elevflev  igetT  WsLIGLIflw
Gamevoid Slett Sierey Wing)?

1. 60° o4 75°

@. 120° . 150°

70. A certain sum of money amounts to Rs. 8,880 in
6 years and Rs. 7,920 in 4 years recpectively. Then
its principal is
a. Rs. 7,500
c. Rs. 8,000

b. Rs. 6,000
d.Rs. 4,530
e GOUUILL oiFevrenig) 6 opesor(hserflev em. 8,880
DB , 4 S6s8T(HS6TT6L erh. 7,920 Bp &6 IMHng
6T6Dfl6L &6V ETEBTLIS)
1. ¢p. 7500 <. €5.6000

@. 8000 . 4530

71. A person gets Rs. 50,000 (Fifty thousand ) as
loan with interest rate 4% p.a. from a bank. If the
interest is calculated year wise, then the

compound interest, after two years is
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a. 4,000 b. 2,000
c. 2,080 d. 4,080

&(HeUT 24658T(H 6uL_lg 4% eTevT €. 50,000 (g muilyid)

eurai&luflel) (mbg) SL6vTsL QumSlmm.
6TT(HEQBM(IH (PeOm UL ly HEsTISHSIL L6, Qresst(h

AeoT(hHE6T &HfSS euf sSLL Ceuststigwl Sal (h

6L g UIM6EBTS)|
=41. 4000 4. 2000
. 2080 . 4080

72. What percentage is 15 paise of 2 rupees 70

paise?

a. 5% b.55%
5 3

C. 5;% d. 5;%

2 epumit 70 epugmailev 15 enLIET 61556060T F&HEIHLD?
o 1

3. 5% b 55%

8. 5% 7. 52 %

73. Sanjay bought a bicycle for Rs. 5000. He sold it

for Rs. 600 less after two years. Find the loss

percentage.
a.10% b. 14%
c.8% d. 12%

FepFWl 0E euestTigemw  €m.50008@, eumrailewT.
Quevsi(h auBLMEISEHSGL LnE 5.600 @Geonss
el etesllev BLL F&56I55608586 SHTevor.

=1.10% 4. 14%

8. 8% . 12%

74.15% of 578 + 22.5% of 644=?
a. 2314 b.231.6
c.231.8 d. 233.6
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578 6v 15% + 6446v 22.5% = ?

o1.231.4 <. 2316

Q. 231.8 rr. 233.6

75.Calculate the perimeter of a quadrant of a circle
of radius 21 cm.

b. 75 cm

d. 88 cm

a.65cm
c.44 cm

21 Q&.15 opypeien smevaul Ll LG Hullest &mhmerey

SIT6BOT.
1. 65 Q&.15 3. 75 Q&8
@. 44 Q.8 . 88 Q&.15

76.If x = 2 +1/3, then the value of x + i is

a. 2V2 b. 4
c.V2 d.2Vv3

_ . 1 .
x—2+\/§,6rszsﬂ6\)x+x 65T &I
=1 2V2 o 4
@.V2 . 2v/3
77. Find the value of 55 x 56
a. 3800 b. 3050
c. 3080 d. 8030

&L smevor: 55 X 56
1. 3800 <. 3050
@.3080 . 8030

78. The ratio of two numbersis 3:4 and their L.C.M.
is 120. The sum of numbers is

a.70 b. 140

c.35 d. 105
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Qm eetsaflett eflfsn 34 Coeyid sl
etesotevoflett  6&AM S 120  eevfled  suailm
6650186111657 S (DS BTN 6T60TLIG

1. 70 <p. 140

@.35 . 105

79. Pipe A can fill a cistern in 4 hours while pipe B
can empty it in 6 hours. If both of them are opened
together at the same time when the tank is empty,
the number of hours taken by then to fill it is

a.6 b.8

c.10 d. 12

QM BisesM yeaw Gmil A euflwrs Bi el
Blgiyw Crrsded 4 wewfl Cryb <pHme. UCs
Crrsdlev @wmil B opevig) 6 wewsll Gryssled
Qamligenw BF @evevmoed Hombgl ellE el
QEwHng. Gy (€150 1:58: 310 @nevst(h GLo
HossiulLnmed  Qamipsmellun@d eueny  Qdlev
6158600687 Lo6vtl GBI QGMLlpemut HIFLILILT LiLesTLI(HLD
6T60TLIENS SafT)l.

3.6 . 8

9.10 . 12

80. A man bought an old bicycle for Rs. 1,250. He
spent Rs. 250 on its repairs. He then sold it for Rs.
1,400. Find his gain or Loss percentage

a.Loss 6.67% b. Gain 6.67%

c.Loss 20% d. Loss 6%

Q(H BUT @@ Usnipw L& suestrigenw cm. 12508,
eummaSlenty.  Sigevent  ETUBSHS 5250 GFevey
Qewsny. Seuf genest ¢m. 14008@ eflbmmy.
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SQU[HEOL UMD H6L6LH BLLHENS — SHIT6ool.
(s56i55E160)

. 6.67% BLLID . 6.67% oL

&. 20% mLLLD FF. 6% BLL LD

8l. 2019 Newsl8 enw&dl @@HbHwm LB IpesT

&(HLIGILIM(HEIT 6TedT60T?

[A]  orfluisE — oituts: 2 flewsEnssns:

Gumym(hsev [Beyond Politics: Fight for Right]

[B] einflwsyis@ sitiumey: Gadw (pstteniflemiogener
auemTwmiGsev [Beyond Politics: Defining National

Priorities]

[C] 1Al wenis & SILILMeL: LWkISTUTSSH D& 1HTTS
Bihuug [Beyond Politics: Stand up Against

Terrorism]
[D] SwdwueisE LUTe: 2[BISHT  QevusHemns

auenTwmiSsev [Beyond Politics: Define Your Goal]

What is the theme of the Newsl8 Rising India
Summit 2019?

[A] Beyond Politics: Fight for Right
[B] Beyond Politics: Defining National Priorities
[C] Beyond Politics: Stand up Against Terrorism

[D] Beyond Politics: Define Your Goal
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82. 2019 & "B =evor(y” (Year of Water) etetryy 6165

nblev Sirs Sipflellssg?

[A] sIBILST [B] pmegsivgmest

[C] amflwmestm  [D] wammeipigym

Which state government has declared 2019 as the

‘Year of Water"?
[A] Karnataka [B] Rajasthan
[C]Haryana [D] Maharashtra

83. Mainamati Maitree Exercise 2019 &i5u&g)60
@nHwmallm @ 6T B oGSl G

BenLCUbHmE?
[A] Blwrestoy  [B] uraisemm@aeip

[C] uevraism [D] &estr

The Mainamati Maitree Exercise 2019 has recently

conducted between India and which country?
[A] Myanmar [B] Bangladesh
[C] Sri Lanka [D] China

84. 2019-panest Ugeund) unmpdw &Fbwomest (g
[Pravasi Bhartiya Samman Award] wmmés
sulprISLILIL (heiTeng)?

[A] Prathap C. Reddy [B] Ramesh Mehta

[C] Rajendra Joshi [D] Kamal Karanth
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Who has been conferred with 2019 Pravasi
Bhartiya Samman Award (PBSA)?

[A] Prathap C. Reddy [B] Ramesh Mehta

[C] Rajendra Joshi [D] Kamal Karanth

85. sv@evmeunsdlwnailsst (Slovakia) (pgev ©lLiesor
soesTILI Wiy?

[A] Adriana Karembeu

[B] Zuzana Caputova

[C] Kristina Farkasova

[D] Apollonia Vanova

Who has been elected as the first female President

of Slovakia?

[A] Adriana Karembeu
[B] Zuzana Caputova
[C] Kristina Farkasova
[D] Apollonia Vanova
86. 2019 wlwmdl euett GLettesileny GuUMLigulled
S6TBIH6IT eeMEmMWIT LIL L SH6008 GleussTmeury wimy?

[A] Roger Federer [B] John Isner
[C] Novak Djokovic

[D] Kei Nishikori

Who has won the men's singles title at the 2019

Miami Open tennis tournament?

[A] Roger Federer [B] John Isner
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[C] Novak Djokovic [D] Kei Nishikori

87. 2019 2e6v8 QsmGHML HergHleor (World
Leprosy Day) smL@ummer (Theme) stesrest?

[A] eump@eumd eummp 2 sey@eumd (To live is help to
live)

[B] QgmuwGsmuilesr eafipsd), eumpellest wMHMLD
(Leprosy defeats, Life transform)

[C] um@unl, SeMaGD  WLOHMIWD  UTFULEFD

SpFWweumenn (WPigaysE Camessheurmsev (ending

discrimination , stigma and prejudice)

[D] @ewpurLom HAmieus woHmid Hupuslwy (zero

disabilities in girls and boys)

What is the theme of the 2019 World Leprosy Day
(WLD)?

[A] To live is to help to live

[B] Leprosy defeats, Live transform

[C] Ending discrimination, stigma and prejudice
[D] Zero Disabilities in girls and boys

8s. Gadlw wmessteuy uewmL (NCC) ullest ysHsns

HlwBlssUuL L Bljeuns @uid@esty wmj?

[A] prefey Gamiugm [B] Brsy ewijiom

[C] L0 6670 LIMgRILIL [D] et6iv @& B85
Who is the newly appointed DG of National Cadet
Corps (NCC)?
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[A] Rajeev Chopra [B] Neeraj Sharma

[C] P S Bhanubhat [D] S K Kamath

89. ISRO efletr wesflg afletsrGeustfl eunenmis) emiowibd
(Human Space Flight Centre (HSFC)) eb5

B&ISSL QHMLBISILLLG|?

[A] Q&ngdh [B] G &ettement

[C] Quraigess (s [D] emam@aymuns

ISRO has launched Human Space Flight Centre

(HSFC) in which of the following cities?
[A] Kochi [B] Chennai
[C] Bengaluru [D] Hyderabad

90. NGyfleflest UHlw iy wmy?

[A] w8860 QLo

[B] GQuijestmessr@Lm GamL L

[C] Begi7 GumeLB&mE@HM

[D] ammslevLesr @uosriyimey

Who has been sworn-in as new president of Brazil?

[A] Michel Temer [B] Fernando Haddad

[C] Jair Bolsonaro [D] Hamilton Mourao

9. wGemev@asrellefi(pBg S SMILILTeULNS

QeueflGwplwyeiem BI(HS6IT 6Temou?

[A] peipwim LHMID SHSMT
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[B] sgiiuimest ihmid @raifleonrbg

[C] &1QuflsaT wHmib GevBrev

[D] FrymesT OHMID SSHSMT

Which of the following countries have officially

quit UNESCO?

[A] Russia and Qatar

[B] Japan and UK

[C] United States and Israel
[D]Iran and Qatar

92. 201984 opever(h Caflw Hipsw HGymoessil
allpg Qubmeury wmi?

[A] 3HC&eu Hwmbd Ny&ns

[B] 2 Cionasm gt Miyens rmey
[C] sevepr] sesflep Qe
[D] siesflibdHgm HiBwimed) Sievrmid

Who is the recipient of the 2019 National Nritya

Shiromani Award?

[A] Gudiseva Shyam Prasad
[B] Upmaka Durga Prasad Rao
[C] Talluri Sunil Chowdaryu

[D] Anindita Neogy Anaam
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93. LR (€ W) i yglw HpsLogns

usellGuwihmyeiTemeury wrj?

[A] omevsid LiyssTLey

[B] G &stT 6msuL

[C] UL L smerv@@rmey

[D] sivami Guonflgest (Scott Morrison)

Who has been sworn-in as new PM of Australia?
[A] Ken Wyatt

[B] Malcolm Turnbull

[C] Peter Cosgrove

[D] Scott Morrison

94. sietmemuiled eHHS Calulley  BLLILIMETHT(H

&i6uGsa steuysivl. Slevrld semLLillgdhaliL L g)?

[A] Gw 27 [B] Gw 29

[C] Gw 30 [D] Guw 28

On which date, the 2019 edition of International
Everest Day is observed recently?
[A] May 27 [B] May 29
[C] May 30 [D] May 28
95. pLUUMeseI(hy FIeuGsa QBT Siemod smIGLMY

Hevd HletT S(HLIGUM(HETT 6TetTenT?

[A] Protecting Civilians, Protecting Peace
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[B] Courage for Peace
[C] Law, Order, Peace
[D] Peacekeeping Is a Global Partnership

What is the theme of the 2019 edition of

International Day of United Nations

Peacekeepers?

[A] Protecting Civilians, Protecting Peace

[B] Courage for Peace

[C] Law, Order, Peace

[D] Peacekeeping Is a Global Partnership

96. @nsw ellomeiuenLullsst  (IAF)  ydHw
glenewoisgemuSIWng HlwblssLiLL (HeTemeur wimj?
[A] b LNysmeip Guogm

[B] =iesflsv Gssmeivevm

[C] nn@seip (gLomy ki Ligmflwim

[D] Sevuimés

Who has been appointed as the new Vice Chief of
Indian Air Force (IAF)?

[A] Om Prakash Mehra
[B] Anil Khosla
[C] Rakesh Kumar Singh Bhadauria

[D] Dilbagh Singh
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97. siesoremouiley 6H5S Cadlulley, srauGse HL6wT

SlevTd SemFflEsIuLLg)?

[A] epLied 28 [B] eptigev 30

[C] sLumev 29 [D] ertigev 27

On which date, the 2019 International Dance Day
(IDD) is observed recently?

[A] April 26 [B] April 27
[C] April 28 [D] April 29

98. 45 mnem [Bevei ‘sTeu@revl H&y  Grilevo
ugtigenrenw Qamrisw B 61g)?

[A] oot [B] L L_metT

[C] @bHwim (D] @Gpumend

Which country has launched the 45-day ‘Mt

Everest Cleaning Campaign'?
[A] China [B] Bhutan

[C] India [D] Nepal
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99. 24 et CEISSH L 2HG sevvTETRiSHEMS WISV TEDT

Caflws Gamgenw gmrl Hlesteson 2608 FNHem6sT

Uiibs BSID 61517
[A] Quierss (B] Alwng
[C] siugmi [D] westmom

Which of the following cities has set a new
Guinness World Record for the number of national

flags raised in a city for 24 hours?
[A] Beirut [B] Riyadh

[C] Abu Dhabi [D] Manama

100. uydw GCsdfw umgEMiy  HSeONFHITSH

Bl saluL (Hefemeury wj?

[A] prredeu g gy [B] Sl@evtsipeury &ijiom

[C] prmedeu Qegulflesr [D] &85 Gameusd

Who has been appointed as the new National

Security Advisor?
[A] Rajiv Mathur [B] Dineshwar Sharma

[C] Rajiv Jain [D] Ajit Doval
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Group 4 VAO General Studies Model Test 3 — Answer Key

) A 1) B 21) A 3) C 41) C 51) C 61) C 71) D 8) B 9I) C
2) D 12) A 22) B 32) A 42) A 52 A 62) B 72 C 82) A 92) C
3) C 13) D 23) B 33) D 43) B 53) B 63) B 73) D 83) B 93) D
4 B 14) C 24) C 34) A 44) D 54) D 64) D 74) B 84) C 94) B
5 A 15) D 25) B 35 D 45 D 55 C 65) A 75) B 85 C 95 A
6) B 16) B 26) D 36) B 46) B 56) B 66) A 76) B 86) B 96) C
77 D 17) A 27) A 37) C 47) C 57) C 67) D 77) C 87) A 97) C
8 B 18 D 28) D 38 C 48 A 58 A 68 C 78) A 83) C 98 D
99 C 19) C 29) B 39) A 49) B 59) A 69) B 79) D 89 A 99) A
10) A 200 C 30) B 40) C 50) D 60) D 70) B 80) A 90) C 100) D

Learning Leads To Ruling Page 22 of 22



http://www.winmeen.com/

